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(% L EBEREET)
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a—Fk A A8 HERERE| | Bfrke) | BEE) | PEE) BiEm) | sEm) | wEe)
130100(/=W 2 A 10,450
130100(7ZWZ A 2,080 0 2,080 10 1,612 648
130100(/=W 2 A 500 0 500 10 1,242
130100(7ZWZ A 6,760 0 5,760 12 1,512 864
130100(/=W 2 A 1,050 0 1,050 15 1,620 1,404
130340[;¥ICA LA 9,390
13034003 ICA LA 5,480 0 5,480 10 3,564 1,404
130340[;¥ICA LA 1,060 0 1,060 10 3,510 2,484
130400| 1% 5 840
130400| 1% S 670 670 10 7,020 1,655
1305007zl > = 1,037
130500(7=lF > & 172 172 4 4,320 1,080
1305007zl > = 595 595 3,564 1,512
130600(1 A Z A 1,308
130600({1 A Z A 830 700 5 4,320 918
13110018 3% 23,550
131100|83% 7,050 6,900 15 2,700 1,296
13110018 3% 13,500 0 15
131100|83% 3,000 750 15 1,620
131700(F v XY 17,800
131700 v X 8,910 7,760 10 1,944 972
131700(F v XY 4,390 4,390 10 1,404 702
131800{IF > NAE 2,337
131800{Ix 5 A E 691 227 0.2 104 140 49




131800]IF > A E & 1,080 0 1,076 4.5 2,565 2,025
131910|F R & ¥ 1,239

131910(Fh & KB 8 0 8| 0.045 63 62
131910|F R & 5B 122 0 117 0.5 324 302
131910(Fh & R 1L 280 0 280 1 540 216
131910|F R & FN 350 0 350 10 3,564 2,592
131950(BAh & ¥ 3,041

131950|H A& BH 800 0 432 3 1,728 1,080
131950(BA & EEIR 96 0 96 3 1,296 1,080
133400 L % X ¥ 18,522

133400|L % & I 5,030 0 5,030 10 2,160 1,080
133400 L % X 5B 10,552 0 6,522 10 2,376 1,512
133400|L % & wE 1,460 0 1,460 10 2,700 1,404
133400 L % X =1 580 0 460 4 1,782 540
133400|L % & R 900 0 600 10 1,566

134100 (#A K ToE 13,365

134100|8A/X wE 2,740 0 2,740 5 1,674 1,026
134100|8AM = A 1,520 0 1,070 5 1,944 1,404
134100|8A/K =y e 6,360 0 5,960 5 2,052 1,080
134100 (#A K B IR 200 0 200 5 1,512 1,404
134200|F /M ¥ 2,310

134200|m X —a1—-Y—2vF 2,310 0 1,500 10 2,160 1,512
134300|50F ¥ 6,688

134300(71F & 897 897 2 972 540
134300|50F =N 4,039 3,919| 0.27 130 86
134300(71F =1 1,108 1,037 4 2,160 1,512
134400 k< b ¥ 1,315

134400| k< b 5B 9 9 4,320

134400 b~ b REA 1,306 1,306 1,728 1,296
134500 &' —~ > ¥ 6,192




134500 "=~ ~ = Al 1,485 0 1,485 0.15 86 76
134500 &' —~ >~ = I 3,408 0 3,408| 0.13 93 76
135100 W AT A ¥ 60
135100| W A LT A BERE 40 0 40 2 2,484
135200|%= T3 56
135200|%= EA 20 20 2 2,376
135200|%= FNEL 36 36 2 2,700 1,944
136100(AA L & ¥ 20,840
1361001 A L & T 13,275 0| 13,275 5 3,240 540
136100(AA L & & 2,075 0 1,990 2,052 1,080
1361001 A L & Ry 5,490 0 5,490 1,620 540
136200|E 5% TeE 6,450
136200| %5 timE 850 850 10 1,998
136200(F % B IR 5,600 0 5,600 10 4,050 2,290
136210| X —27 4 >~ ¥ 1,500
136210( X —7 1 ~ B R 1,500 0 1,500 10 4,752 3,942
136300| 2% ¥ 570
136300(E3 i 570 0 570 10 5,616 3,132
136600|7- & ¥ 29,220
136600|7z & Jtime 19,310 0 3,070 20 3,078 2,700
136600|7- A & BE 4,070 0 4,070 10 3,240 1,080
136600|7z & Rl 5,820 0 5,820 10 1,912 1,447
138100|& L Wiz lF ¥ 805
138100(& L W /o lF i 1L 84 84 0.05 65
138100|& L Wiz lF wE 676 628 0.2 238 103
138500| L& LE ¥ 1,337
138500| L& LE K% 1,336 0 1,027 0.2 76 70
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a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
241260 HE A M A Eoe= 370
241260|HE AN A Fig 80 0 80 10 1,404
241260 HE A M A ERS 290 0 290 10 2,754
2414501 R HE 210
241450[F R ML 210 0 210 10 3,456 2,160
241481|F Ry A h A | 155
2414817 2R HH A | FFL 155 0 0 5
242830|.5 LW AT bioese 6,250
242830(3 LW AT B 6,250 0 3,780 10 5,400 2,700
242850|EM N A Z bioese 300
242850(FEMY A Z B 300 0 0 10
246000|L B & T 6,384
246000(\ 5B & EE 253 242 11 0.25 324 216
246000|L B & I 561 0 5201 0.25 346 151
246000({\ 5B & & 1,460 0 1,430 0.25 400 248
246000|L B & K& 1,934 0 1,934 0.25 356 162
246000({\ 5B & REAS 1,884 0 1,127 0.25 302 173
246000|L B & = I 258 0 2041 0.23 270 194
247100| 7 —L 2 X Oy [ 305
247100| 7 — LR A AV B4 261 0 252 9 15,660 5,940
247100| 77—/ R A A v Syl 45 0 45 9 3,240
24830078 /I HE 2,125
248300| 71 REAR 2,115 0 990 15 6,264 3,780




